#### PLANT ENTERPRISES PRODUCTION

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY						
Pulpwood						
Pine				3,029	cords	
Hardwood				3,332	cords	
Pulpwood (Total)				6,361		
Chip & Saw				304	cords	
Saw Timber						
Pine				2,587,460	board feet	
Hardwood				415,826	board feet	
Saw Timber (Total)				3,003,286		
Total Pulpwood, Chip & Saw,	,					\$1,936,435
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,163,522
Christmas Trees	*			100	trees	\$4,000
Forestry (Total)						\$1,940,435
FRUITS						
Blueberries	*	3.0	1,000.00	3,000	lbs.	\$3,750
Citrus						
Satsumas	*	5.0	500.00	2,500	bu.	\$25,000
Citrus (Total)		5.0				\$25,000
Fruits (Total)		8.0				\$28,750
FEED GRAINS						
Grain Sorghum	*	410.0	25.00	10,250		\$41,000
Oats	*	18.0	60.00	1,080	bu.	\$2,560
Feed Grains (Total)		428.0				\$43,560
HAY FOR SALE						
Grass	100	10,000.0	3.00	30,000	tons	\$1,500,000
Hay for Sale (Total)		10,000.0				\$1,500,000
						Page 1 of 4

# PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
HOME GARDENS	3,500					\$1,050,000
RICE	180	75,450.0	58.00	4,376,100	cwt.	\$24,287,355
SOD PRODUCTION	*	720.0			acre	\$2,553,120
SOYBEANS	60	12,000.0	28.00	336,000	bu.	\$2,234,400
SUGARCANE		,				
Raw Sugar	8	6,000.0	5,796.00	34,776,000	lbs.	\$4,242,672
Molasses		6,000.0	174.00	1,044,000	gal.	\$151,380
Sugarcane (Total)		6,000.0				\$4,394,052
WHEAT	12	1,800.0	45.00	81,000	bu.	\$260,820
TOTAL ALL PLANT ENTE	ERPRISES	,		·		\$38,292,492

# FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of	Units of	Total	Units of	Gross Farm
FISHEITES	Producers	Production	Production	Measure	Value
AQUACULTURE					
Crawfish (Farm)	80	5,000 Acres in Prod.	3,500,000	lbs.	\$2,275,000
Aquaculture (Total)					\$2,275,000
MARINE FISHERIES					
Shrimp	*		6,667	lbs.	\$7,974
Commercial Finfish	*		5,077	lbs.	\$8,103
Marine Fisheries (Total)					\$16,077
FUR ANIMALS			526	pelts	\$2,788
ALLIGATORS (WILD)			1,650	ft.	\$36,300
HUNTING LEASES	80	75,000 No. Acres		acre	\$1,500,000
		Leased			
HONEY	*	600 No. Hives	108,000	lbs.	\$145,800
TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES					\$3,975,964

#### ANIMAL ENTERPRISES PRODUCTION

Number of Units of Total Units of Gross							
Animal	Producers	Production	Production		Gross Farm Value		
CATTLE & CALVES							
Steer Calves							
300-400 lbs.			3,530	head	\$1,282,696		
400-500 lbs.			1,776	head	\$742,377		
500-600 lbs.			590	head	\$271,087		
Steer Calves (Total)					\$2,296,160		
Heifer Calves							
300-400 lbs.			2,747	head	\$879,342		
400-500 lbs.			1,374	head	\$517,950		
500-600 lbs.			457	head	\$194,645		
Heifer Calves (Total)					\$1,591,938		
Yearling Cattle							
700-800 lbs.			868	head	\$488,250		
Yearling Cattle (Total)					\$488,250		
Cow-Calf Pairs			1,635		\$1,177,200		
Cull Cows				head	\$539,918		
Cull Bulls			64	head	\$46,752		
Cattle & Calves (Total)	260	16,350 No. Cows			\$6,140,218		
HORSES							
Brood Mares							
Race Horses	*	15 No. Brood Mares	-	head	\$60,000		
Recreation Horses	65	100 No. Brood Mares	50	head	\$75,000		
Brood Mares (Total)					\$135,000		
Stud Fees							
Race Horses	*	5 No. Stallions		mares bred	\$37,500		
Recreation Horses		30 No. Stallions	100	mares bred	\$10,000		
Stud Fees (Total)					\$47,500		
Race Horses	15			head	\$350,000		
Recreation Horses	200		300	head	\$300,000		
					Daga 2 of A		

Page 3 of 4

#### ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
	Tioddecis	Troduction	Troduction	Wicasare	\$832,500
Horses (Total) SHEEP					\$652,500
Slaughter Lambs			30	head	\$2,944
Show Lambs				head	\$4,125
Stocker Sheep				head	\$713
Cull Sheep				head	\$175
Sheep (Total)	*	40 No.Breeding		11000	\$7,956
· · · · · · · · · · · · · · · · · · ·		Ewes			4 - 9
GOATS					
Show Goats			20	head	\$3,000
Slaughter Goats			60	head	\$5,100
Stocker Goats			20	head	\$1,300
Cull Goats			5	head	\$210
Goats (Total)	*	50 No. Does			\$9,610
SWINE					
Show Pigs			20	head	\$6,000
Feeder Pigs			40	head	\$720
Culls			5	head	\$550
Swine (Total)	*	10 No. Sows			\$7,270
TOTAL ALL ANIMAL I	ENTERPRISES				\$6,997,554
JEFFERSON DAVIS	PARISH TOTAL				\$49,266,010